ERR30FOH9H

F£— BB SE (708)
AfRLUF 2S5 —DEp (208)
[[EYivi K & OUT | IN |GROSS|HDCP| NET
1 KB =hE 43 42 85 9 76
2 ZH W= 43 41 84 7 77
3 8H Am 46 39 85 8 77
4 mA B® 47 45 92 13 79
5 7 =] 47 40 87 o’ 80
10 XE F= 48 44 92 8 84
BG ZH W= 43 41 84
B#kLF+ 215 —D5Ep (318)
NIE{iz K & OUT | IN |[GROSS|HDCP| NET
1 NEB Z=E 48 45 93 26 6/
2 B .= 51 50 101 28 73
3 28 EBX 48 47 95 20 75
4 NE =2 46 52 o8 21 77
5 ®iE sAB 55 53 108 30 78
10 BT RN 53 55 108 25 83
15 xE E= 59 56 115 28 87
BG NEB Z=E 48 45 o3




£ BHIM FR30F9H9H
TSYRYZP « UT 1 —RADEB (198)
NIE{iz K & OUT | IN |[GROSS|HDCP| NET

1 TR R— 46 41 87 16 71

2 Bym  {ERD 39 45 84 12 72

3 RE FokE 44 47 91 17 74

4 P9z  ffi— 40 42 82 o’ 75

5 65 g 49 46 95 20 75
10 e ESR 51 49 100 17 83
BG P9z  fli— 40 42 82
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